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1. Addition (Horizontal Method)                                                                           
 

a) 12 + 17 =  29  
b) 41 + 26 =  67 
c) 53 + 33 =  86   
d) 13 + 62 =  75  
e) 84 + 14 =  98 

 
 
 

2. Addition                                                                        
 

 

 

3. Write in HTO Column and find the sum using the Vertical Method 
 

 
  
 
 
 
 
 
 
 
 

Answer for Exercise A (Page 24) Find The Sum: 

78 

99 

48 

88 

48 

99 

97 

99 
 
 
 
 
 
Answer for Exercise A (Page 30) Find The Sum: 

52 

71 

76 

81 

71 

82 

78 

71 

34 

54 

47 

 

 

 

     
T O H T O T O H T O H  T  O 
 8 3 
 4 5 

3 1 3 
2 8 6 

            15 9 
              3 7 

7 3 3 
         + 1 6 3 

 6 17 4 
       +2  1 8 

          +   2 1        + 1 0 0           +     2               8 9 6    8  9  2      
            1 4 9 6 9 9               9 8   

     

 

 

    

a)  523 + 374 b)  456 +243 c)  291 +707 d)  246 + 483 e)  809 + 287 
 

 H T O 
 

H T O 
 

H T O 
 

H  T  O 
             

         H  T  O 
5 2 3 

          + 3 7 4 
4 5 6 

        + 2 4 3 
2 9 1 

         + 7 0 7 

                12  4  6 
         + 4  8  3 

         8 10 9 
     + 2  8  7 

 8 9 7   6 9 9  9 9 8   7  2  9       1  0  9  6      
     
     

     



 
 
 
 
 
Answer for Exercise B (Page 30) Add: 
87 
89 

81 
80 

80 
81 

95 
91 

 

 

 

 
Answer for Exercise A (Page 33) Add: 
66 
84 

90 
57 

56 
68 

91 
87 

 

 
 
 
 

 


